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You have been called for the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web any information or you do not possess the required
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The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.
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The questions will be objectlve type with four options out of which only one will be unambiguously correct.
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Each question carries 04 marks and one mark will be deducted for each wrong answer.
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You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.
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Multiple answers for a question will be regarded as wrong answer.
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Question booklet code printed on the top right comer should be written in the OMR answer sheet in the

space provided.
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Enter your Name and Roll Number correctly in the question booklet.
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All entries in the OMR answer sheet should be with blue/black ball point pen only.
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Computers, calculators, mobile phones and other electronic gadgets, text books, notes efc., will not
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On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.
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The question booklet can be retained by the candidates.
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Candidates are not permitted to leave the examination hall during the first hour of the examination.
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JEAITTT & (@es0)-9¢ H.1349/TECHNICIAN — B (WELDER) - POST NO.1349

TF HF doaeT UiHdT &, Thd HUETT Itd Hitel & [T 98 dld 0Th .o ¥, foeg doaa: =aha
FIAT Bl

In an arc welding process, the three variables to be essentially controlled to obtain a satisfactory
weldment are :

(a) 3feser amr, dlecar g a1fa/Welding current, voltage and speed

(b) 3afeser emr, dieedr U9 3% wers/Welding current, voltage and arc length
(c) afesr 3% das wg aifa/Welding arc length and speed

(d) drcedr, 3H wES .Q‘ci aifa/Voltage, arc length and speed

T JeseT Uiehar 3, JUT ............. BT IS &

In fusion welding process, penetration is the ratio of

(a) des Fragws 3R dars/Depth of weld to length
(b) des T IEws AR dies/Depth of weld to width
(c) desdrales AR gUs/Width of weld to the depth
(d) s #rders AR TS/ Length of weld to depth

T Jos 3 dl UHR T T RAER0T &7 3cHe Far §1 Aeai@d A ¥ A e 6
A welding arc emits three types of non-ionising radiation. Which of the following types is likely to
cause arc-eye? ‘

(a) 3rR=d/Infra-red

(b) 9EeE (FE)/Ultraviolet (UV)

(¢) I/ Visible '

(d) 3udea # & HS A€/ None of these

ﬁ?&té@%ﬁﬂéﬁ%@?aﬁr@aﬁ...%ﬁﬁl
The distance between the root and toe of a fillet weld is called
(a) weerei/Reinforcement

(b) T Fers/Leg length
(¢) ¥c¢ d9/Root gap
(d) e Aes/Throat thickness
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Pt Ao PR qelid A S e &l

Forge welding is classified as

(a) & & @y Farel desal/Fusion welding with pressure

(b) T g & Horert desa/Fusion welding without pressure

(c) o % |y e desa/Non-fusion welding with pressure
(d) = g & 3rderee desa/Non-fusion welding without pressure

ARaw AT sdFes & FE0T F AT 9IFd AU OF gl

The coating factor used to make medium coated electrode is
(@ 1.25-3 , (b) 14-15
(c) 1.6-22 (d) 2.28 F9UAbove 2.2

ST de SERET T 3 o W Hfd deedr @ SR doser fwie diecar # aRafdd & g

......... gl
The part of DC welding generator that converts AC supply voltage to DC welding output voltage is

(a) 3mHT/Armature (b)  @re= si=r/Carbon brushes
(c) fFaRades/Commutator (d) & FEel/Field coils

A v AT & REg 715 dosd FAl ... gl
The welding defect depicted in the image shown below is :

(a) 3mersas/Undercut

(b) 3rsRoTUnderfill

(c) 3T Herel/Incomplete fusion
(d) @ &/Toe cracks

et 3 9T HTT WA cooveeenees g1

Principal materials used in soldering are

(a) &= 7 @/Tin and Lead (b) fe=t 7 afer/Tin and Copper
(c) disr @ @s/Copper and Lead (d) 5 T @3/Zinc and Lead

4 1349



10.

11:

12

13.

14.

ufife doa Ui & ol JFTss TuT UARTgH JRISs e, @mﬁﬁwmal

In Thermit welding process, iron oxide and aluminium oxides are mixed in the ratio :

(@) 1:3 (b) 31
() 1:2 (dy 22
L (R T T T F AT T TG TS &

An apron is a safety accessory used to protect :

(2) do=X & R & 30 & sErFront body of the welder
(b) desT Fr W/ Eyes of the welder

(c) dest @ grd/Hands of the welder

(d) dest & favHead of the welder

gerd @ dg TR S SEY TEe are Fegd 4RI & qaE A ORI FAr T s e &l

Property of a substance to oppose the flow of electric current through it is termed as :
(a) faega =rerehcr/Electrical conductivity

(b) faega wfadeElectric resistance

(¢) wu«ia/Density

(d) faegd ems/Electric pressure

Ohms law states that :

() R, deear ¥ W eaIfas §/Current is directly proportional to voltage

(b) T, (Aeean’ ¥ EY e §/Current is directly proportional to (voltage)®

(c) N, deear ¥ wfadiea: 3eaifas g/Current is inversely proportional to voltage

(d) I, (e’ fddiFa: meuias g/Current is inversely proportional to (voltage)®

fefafld 3§ § Fla-Ar wfiear iRy des afhar 78

Which of the following process is not a resistance welding process :

(a) wuic afesaSpot welding (b) W8T des/Projection welding
(c) 3mard des+i/Percussion welding (d)  =¥or Ies=1/Friction welding
>
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16.

17.

18.

19.

raf@g & O S uira, 3o & fov HaTa ardreRer $r 3rdeT w@dr 872

Which of the following process essentially require a vacuum atmosphere for welding :
(a) T A desst/Laser beam welding

(b) AT 3% desel/Plasma arc welding

(c) 3oFE a7 dess/Electron beam welding

(d) free Rex des+i/Friction stir welding

HBCE ............ & fow aRkaoff eeg B

ISO is an acronym for :

(a) Se¥ead TssH 3RETgaee/International standards organisation

(b) oA EAEATE B Tssigde/International organisation for standardisation
(c) sfeger wssw 3ifiamgae/Indian standards organisation

(d) i 3ifemsdes ®k Teegisaze/Indian organisation for standardization

3MF JosT & HFAT covvenes & faw 3uarer fRar ST &

An earth clamp is used in arc welding to :
(2) desT & NI Selgeis & 93 T & few/Hold the electrode during welding

(b) T-TTH Fae F FTEIs A Siisel & fAwWConnect the earthing cable to electrode
(c) S-HUH ool F g% G F Fsr & fAwConnect the earthing cable to work piece
(d) o-TTF Faa ¥ gorwgs F GrT Sig F faw/Conduct current from earthing cable to electrode

des &1 AP T HFR T S T F AT MFAleTa I=T H ... @gd ol
A device designed for checking the shape and size of welds is called :

(a) de3 se/Weld dial (b)  des wA/Weld gauge
(c) d9es gus/Weld indicator (d) des TFeare/Weld template

frfaf@a § ¥ Fla-dr i 4o & Pv aed 3=
Which of the following weld positions is the easiest to weld

(a) gurec/Flat (b) FEarER/Vertical

" (c) 3NaEs/Overhead (d) aifas/Horizontal
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20.

21.

24,

23.

24.

25.

I Jog SiEe F g & AU O T HEIT B TR ST & L, e
If the number of passes to make a weld joint is increased, then :

(a) f&¥9oT Fear g/Distortion increases

(b) f&¥9oT "gear g/Distortion decreases

(c) Tawgor WX faedt w1 e wEr 9gar/Will not have any effect on distortion
(d) 9T X 39eroir verra usar &/Will have negligible effect on distortion -

The slag formed during a Thermit welding process is :

(a) FeO (b) Fe,0O3

(c) Al d AlLO;

i o CI: ISCIEZG I

The symbol ‘O’ is used to denote a

(a) T dez/Seam weld (b) T@ic des/Spot weld

() waIT des/Projection weld (d)  weler sg deg/Flash butt weld

o=t dlg g ¥ AT §, #9ifF 3% ... gl

Soldering irons are made of copper because it is
(a) #Heavy

(b) I & Fureh §/Bad conductor of heat

(c) FSAT & dielsh 6/Good conductor of heat
(d) arfr faear 31@% §/Thermal expansion is more

T H & Sl orge 6T 3 T F Tl o8 3HH BT 8, wovvereeees Bl

The type of electrodes that are most prone to the danger of moisture pick up is

(a) ¥crsd afa/Rutile coated (b) HF Afdd/Basic coated

(c) @ee@ra/Cellulose (d) gz & FIg 8/ None of these
UI5T dose & AU AlTel F TIT cooveeneene R =R

The selection of nozzle for pipe welding depends on
(a) 7@ FoT/Groove angle

(b) desa RPufa/Welding position

(c) T arer ArS/Pipe wall thickness

(d) 9z =a1E/Pipe diameter
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26.

27.

28.

29,

30.

afe cosf = 5/13 %, A tand (6 FFFARIOT 8)..cveveennvens gl
If cos@ = 5/13, then tan® (O is acute angle)

@ 1213 by 125
© 512 @ 3
33_33
e reavrico i | gl

3_23

The value of 2

g
32432422

(@ -1 b 1
© 0 , @ 19

TIERUTTAT AT YR & Jesd adl HEa3s F uiRefor sdwat & fav 7 96R & dbd sdaes

T wIET fomar STar §2

Which type of coated electrodes are generally used for general purpose welding and training

purpose in ITT’s?

(a) wero/Rutile

(b) @eeeiden/Cellulosic

(c) H/Basic

(d) g a3t Afda/lron powder coated

Toal olig HT 95 IO AR 3U JeT e H HIOAS G &, oo gl
The property of cast iron that makes it difficult to be welded is

(a) 3@ HORY U4 #RCNIts hardness and brittleness
(b) 3= @dis<T Fei/High compressive strength

(¢) [ esien/Low melting point

(d) @& WaarLow fluidity

AIesE g T FART FTA: ... & fav fRar e B
Soldering iron is mainly used to

(a)  herer & aTaet & fare/Heat the flux
(b) &1l % a9 & fore/Heat the metal

(c) WIS F I & fore/Melt the solder
(d) 3udFa & § FiE g/ None of the above



i

32.

33.

34.

35.

Thermit welding process :
(8) AT H 39T 5] Aal/Does not use heat
(b) Z=T duART YT T & faw ey Tarfs TR 1 g fcr g

Employs exothermic chemical reaction to develop high temperature

(c) H THT H 39AT Far 6/Less time consuming
(d) 39T § HE A61/None of the above

fore g & dese #, T3l 1 Sigel & T aiferd ere3it i srer fear s g2

In which type of welding, molten metal is poured to join the metals

(@) SHwTTEgGMAW (b) heresseGTAW

(c) uffiT des=1/Thermit welding (d) ¥ des1/Gas welding
M@%ﬁﬂmlﬁiﬁwq‘ldlm?wwwqmﬂﬂ%m,ﬂ@ ............ & FHRUTHIAT
gicl B

During a metal cutting operation using an oxy-acetylene flame, the metal is cut due to

(a) 3nUgs 3iaivr/Molecular transfer
(b) EeT 3fFdiaRorIntensive oxidation
(c) @13 & arsv=i/Evaporation of metal
(d) @13 & Sger/Burning of metal

R s1aeT & WIsT W SEUTd FEATHT T 9o ..o SaRT T ST B
Welding of steel structures on-site of a building is done by :

(@) fg desa/Spot welding (b)  3F desai/Arc welding
(c) W8T Ies=T/Projection welding (d) ofFc desa1/Thermit welding

3% dosa Ufhar F golacis & TG & HET AES ..., gl
Main criteria for selection of electrode in an arc welding process is :

(a) Qfesa frar SwiaTer gre/Material being welded
(b) deser wfsRar @ gwR/Type of welding process
(c) uErt #r Aer/Thickness of material

(d) 9ged dese WAy Welding parameters used

9 1349



36.

Jl:

38.

39.

40.

41.

3T Joged UiHdT & TN &7 7S ORI v a3 AT B

In arc welding process, the current employed is decided by :
(a) 3olEels & 3R/Size of the electrode

(b) gerd #r Arers/Thickness of the material

(¢) waeTag #r wers/Length of weldment

(d) deser &1 aifd/Speed of welding

FEdaTOd SEIuseey Uieham #, deset &1 fa=m & WY 3AFS glest & HIoT WURITAA ... gl
In manual GTAW process, the angle of the electrode holder with the direction of welding is
normally :

@ 30 (b) 45
() 70 | (d 90
3 dosT Sfhar & 3H daS HAET . & TR g AIRT

Arc length in an arc welding process should be nearly equal to :
(@) 3zeers () = @@/Diameter of the electrode (d)

(b) 1.5d

(c) 2d

(d) 3d

Wie de=a 9iHar & v wufad sdwes o e, des+ fv o7 @ 9 #r Al suyeR dafd g
The electrode tip diameter selected for a spot welding process is related to the thickness of the
material being welded (t) by the relation :

(@ D=t (b) D=+t
(c) D=t (@ D=2

100 AT &1 ORT & T Jesa g6 Bhie 7 WUROTTAT Yged et g 6 T1 & ...

The shade number of coloured glass generally used in a welding hand screen for current upto
100 Ais:

(@ 8-9 b 10-12
() 12-14 @ 14-16

T @R I 3 dese Wi ..., 3T AT B

Metal active gas arc welding process uses :

(a) e sEFarss/Carbon dioxide (CO,)

(b) =mEgr/Nitrogen (N3)
(c) 3mi=/Argon (Ar)
(d) @/ Helium (He)
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42.

43.

44.

45.

46.

A VAATATH FI Tefelich BT ..., gl

Melting point of pure aluminium is approximately:

(a)
(©)

A & dese & [T oY @I dosa Uisham &1 YT X H JeAdrell J JHEr

23096 ()  420°C
660°C (d  1000°C

The primary difficulty faced in employing laser beam welding process for welding copper is /

are :
(@)
(b)
(©
(d)

die I 3=a Wradear/High reflectivity of copper

i &1 39 g ardshar/High thermal conductivity of copper
(a) 7 (b) &i=ii/Both (a) and (b)

disl &t 3= faege drersha/High electrical conductivity of copper

In DC welding, straight polarity is recommended for :

(a)
(b)
©
(D

Fefafea # & Fia-ar s vy gfc @9 W a9 A 7 a6 uig F PR aRar 8

gooh oifdd Selggis ¥ dessl/Welding with light coated electrodes
HRY AT gelogis ¥ desei/Welding with heavy coated electrodes

sifa ol afa selegis & desa1/Welding with super heavy coated electrodes

ehe erg @r/Sheet metal working

Among the following, which type of electrode deposits a large amount of weld metal per unit

time
(a)
(®)
(c)
(d)

AT gIsgieie gelagis/Low hydrogen electrode

dig a13sY Setaers/Iron powder electrode

g due setecis/Deep penetration electrode

S oftd vaed geiggis/Heavy coated SS electrode

SIRIY ST R vRafeder dos & AT yyEd Sarerm 3eRiE | A 4

The flame used for oxy-acetylene welding of stainless steel is neutral or :

(a)
(®)
(©
(d)

SRI-AT 3iferdraRe/Slightly oxidising
FRI-HT e/ Slightly carburising

S5 378% Frxer/Heavily carburising
g 37few ffdiere/Heavily oxidising

11
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47.

48.

49.

50.

o1.

52.

fastiaea aiq & oIty & fov Prfaf@a & & F-97 g 090,05 - 0,15 % & Framar srar &2
Which of the following element is added to about 0.05 — 0.15 % to obtain deoxidised copper?

(2) Rfes=/Silicon (b)  wew/Sulphur
(c) wgsRE/Phosphorus (d) #Hera/Manganese
Al & W desd & fv 3ugwd fher 85 .......... gl

The filler rod suitable for fusion welding of copper is :
(a) fafesa-siEg ss/Silicon — bronze rod

(b) He=g-wHET s3/Manganese — bronze rod

()  Yg drF w3/Pure copper rod

(d) @eT-tera f@Tg 53/Copper — silver alloy rod

mm*mmmwmmgmmmﬁmmammﬁw
........... gl

The purpose of using a run on — run off plate during an arc welding process using a welding
generator is :

() AT NI & GAR fIEoT F¥/To distribute heat input uniformly
(b) 3geed fawuor & FA &eA/To reduce longitudinal distortion

(c) ergAe 3idiase ¥ 9=/To avoid slag inclusion effects

(d) 3% sa ¥ s==T/To prevent arc blow

Ffaf@a & & sieRor B Fl-dr Ry sT7 3907 & gEar

Which of the following modes of transfer is liable to give high spatters?
(2) TMFR T FgTYS/Globular and short circuiting

(b) HgIEHTE FW/Short circuiting and spray

() ¥ 7 wWfed ¥/Spray and pulsed spray

(d) 7MFR T TWET B/Globular and pulsed spray

o | o T JES—Y

1 km/hr= m/s

(a) 1000 (b)) 18/5

() 5/18 (d 0.001

&l GTTcHe HET3T T ATher 27 % T 37T 3 3| Wew T wEAr gl
Sum of two positive numbers is 27 and their difference is 3. The largest number is
(@ 12 b 30

(c) 24 d 15
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o4.

95.

56.

57.

58.

frAfarad 2 o Wt 7 ¥ SI9-67 SaFel UIgHee dess Yihar & e gafad R S g2

Which of the following DC power sources is to be selected for electro slag welding process?

(a)
(b)
(©)
(d)

smafafda «rT g "@ia/Constant current power source
TL YRT 91a) Hid/Variable current power source
fEaT dieedr graX dia/Constant voltage power source
T dleedl & Ha/Variable voltage power source

I JosoT YA & SR AT FARAF FT FE

The function of a gas regulator during a gas welding operation is :

gl

(a) Tafae yerRe & sarem gred SE/Get the different types of flames
(b) ¥t @ 3T sreqaTa 7 AT #E/Mix the gases in the required proportion
(c) wairarsy # Fedt Il & I F agre
Change the volume of gases flowing to the blow pipe
(d) FRFRY g A AT FHT=T/Set the working pressure
The welding position in which an electro slag welding operation is performed is
(a) wure/Flat (b)  &fas/Horizontal
(c) Fwater/Vertical (d)  3We/Overhead
eal oY F FHIET Ao A UR U oo & A9H aF I BT S gl
In braze welding of cast iron, the base metal is heated to a temperature of :
(@ 300°C (b) 650°C
(c) 1000°C (@ 1300°C

AR Uit & des & v efaf@a ot o e g fewor w¢ gar aifge?

For welding dissimilar metals, which of the following properties should not have wide

variations:

(a) ©sica/Density (b) == F/Tensile strength
(c) ardg fawar/Thermal expansion (d) a=ar/Ductility

AIAIT: FAFe e Fal & T Tgad leste dig H W s F TR K gl
Rating of soldering iron normally used for electronics works is in the range :

(@ 50-100 Watts (b) 250-500 Watts

(¢) 500-750 Watts (d) 750-1000 Watts

13
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60.

61.

62.

63.

IR A & FOead F OI ¥ SIAYET @R B Ul e & v Setat@d F & @l
srfa=medr fafer &1 g=ier forar Srar &2

Which of the following non-destructive testing methods can be used to detect minute surface
cracks in a weldment of non-magnetic alloy?

(a) g=hrg T glETor/Magnetic particle test
(b) g gdETvT/Penetrant test

(c) vFg-tylmor/X-ray test

(d) e glEor/Ultrasonic test

T o3 o foIT, are] it AT a2 ... de SfAd Bl

For ultrasonic welding, the thickness of the metal is usually restricted to :

(a) 3@A.A/mm (b) 8 fA.H/mm
() 12 A&/ mm (d) 15 @A/ mm

In arc welding process, better arc stability is achieved with

(a) wcuEdh eRT/Alternating current

(b) S gavIar Fr el &ry/Direct current with straight polarity
(¢) 3ohd gaurar $r @elr ar/Direct current with reverse polarity
(d) 3 FEar seT &1 9 uRT ¥ qEd §

Arc stability is indépendent of the nature of current employed

e H Foard & 3TN & 38T ... & v g
Purpose of using flux in soldering is to :

(2) HIesT e T e T 5T & frw/Increase the fluidity of solder metal
(b) 3ifFaTss & AATT S AeA1/Prevent formation of oxides

() HIesT & eleAish o A Hten/Lower the melting point of solder
(d) 378 Giest Sl glsr/ Wash away the surplus solder

fFefaf@a & @ sla-ar 99 sarer galr w99 3®% aroee &ar &7

Which among the following gas flame combinations provide the highest temperature?
(a) 3itrdT vfAfee/Oxy-acetylene (b) 3T gE3e/Oxy-hydrogen
(c) 3T Teds/Oxy-LPG (d) ey vfafeds/Air-acetylene
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64.

65.

66.

67.

68.

3ifedr vfafeas ufrar & o & RY & 3cUeT U, 939 SdIai, Saral F el DT ........ F HROT &l

Backfire, a small explosion of flame occurring at the torch tip in oxy-acetylene process is
dueto:

(a) drare o agd et T IR AT FEr/Gas pressure setting too low

(b)  =roter &1 AT 811/ Nozzle overheated

(c) T 8T caRrT AleTel @R ¢ a1 aiel/Nozzle orifice blocked by carbon deposits
(d) 3wdad AT IS AN/Any of the above

maﬂ%ﬂﬂmmmwﬁa@gaﬁm%%ﬁa@%ﬁmwm gl Soees A
S RO H IFR ... gl

An electrode is designated using IS codlng as ER 4334. The type of covering used in the
electrode is :

(a) wezol/Rutile (b)  FHeI/Basic

(c) Srereire/Cellulosic (d)  3=eig/Acidic

@ F O By e ofefor R & des & g oed ¥ ~ 15 AL IR &
foraT ST &, A 3ot form & gulsr-geR foham e &2

In which of the following destructive test methods is a saw cut ~ 1.5 mm made along the
centre line of weld followed by hammer blow from reverse side :

(a) 3rgTog et TiaToT/Nick break test (b)  FFa 5% TeToT/Free bend test
(c) #ifa udreur/Fatigue test (d) gz 9dsor/Impact test
CIEEC ) T E &I T w5
The figure illustrated below represents :

[ s e |
(a) werT des/Plug weld (b) wic de3/Spot weld
(c) o9 des/Lap weld (d)  9feRi des/Resistance weld
HUTTT HT IRITATTA oo & fow far e &

Post heating of a weldment is done in order to :
(a) Y+ FHoR va R fig3if & fAwfor deaem
Prevent the formation of hard and brittle spots in the weld
(b) des # RIS Wi T i=1/Relieve residual stresses in the weld
(c) (a) 7 (b)a=i/Both (a) and (b)
(d) TIEIT ¥ IR g4 § g9«/Prevent cracking of the weldment
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69. WIIed Rew TIel I55T F HEY .......... il

Stabilised stainless steel welding refers to :

70;

7.

(a)

(b)

©

(d)

Wﬁﬁ%ﬁa@ﬁw,ﬁﬁaﬁmﬁﬁﬂmmgmmaﬁ
dese P TR fFar T §

Welding of stainless steel stabilised using elements such as titanium, zirconium etc to
eliminate corrosion

FUTT 311k 6T 19T 3t §U FeAord TENE 1 doseT |

Welding of stainless steel using a stable arc

IA=/faFqer & g9 F AT VAo T geHl & o5 F 7T T F HIT I7 B
Welding of stainless steel component rigidly fixed to prevent warping / distortion

39dFd # & F1$ 7Ei/None of the above

Hydrogen embrittlement is :

@)

(b)

©

(d)

HHETTT F T UG G GG F AT FEA ITAR GGRAT GIESISd aTamaReT ¥ o S
gl

A heat treatment process carried out in a hydrogenated atmosphere to increase the strength
and toughness of weldments

e & I8 F Sfivie gfade qurent sare i & O #eR due s

A hard facing operation to provide wear resistance properties to the surface of components

T S o, gegienT 1 T A gaer v wRad RO & FROT e e s ud i
Ygcd gl &

A process by which metals become brittle and fracture prone due to the induction and
subsequent diffusion of hydrogen into the metal

m*mmmmﬁmwwmwmmgwmw
gfshar|

A gas welding process using hydrogen and oxygen to generate heat for welding

mm#ﬁmﬁf@aﬁ@rmmﬂwmgﬁmﬂ?m$ﬁw
fra sfafea Tver U & sgaEr

While using which of the following electrodes in a GTAW process, additional safety
measure against radiations needs to be addressed?

@
(b)
©
(d)

NI Eareet gorFgis/Thoriated tungsten electrodes
FoRIITger arret seiaeis/Ceriated tungsten electrodes
fSreniferamer damrest sA=gIs/Zirconiated tungsten electrodes
fTeTgere SareeeT gowreis/Lanthanated tungsten electrodes
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72.

713.

74.

75.

76.

CHTGHT 36 o UETad & [T CSollefdr o & # WIed dlgA e ... gl

The temperature obtained in a plasma jet torch employed for plasma arc welding operation
is of the order of :

(@ 26000°C (b)  3000°C
(c) 10000°C (d  13000°C
THT FleeT 3Th Jesd H ATAT .veeeee.. gl

Twin carbon arc welding refers to :

(a) 37T JeseT AT Uhel SOIFIS T STANT Xl §U T & 3|
Arc welding process using two arcs established using a single electrode

(b) 3T Yo URRAT Forae 35 Y giest & Oy &) e+ SoiFeis ¥ T1Tid Ud 3R iEd &1
Arc welding process in which arc is established and maintained using two carbon electrodes
held with a special holder '

(c) U SoIERYS AT WAIPT el U Al SIS ohl Ie-HT oo
Two joints simultaneously welded using a single electrode

(d) 3o # & IS €T/ None of the above

frefaf@d & § Hla-dr ez afrar doegy i &1 92T S 82
Which of the following welding process employs a Langmuir torch?
(a) TRATVE gFTBFST des+i/Atomic hydrogen welding

(b) &Y 1A dessi/Laser beam welding

(c) ZIreeT 3iferar 3 et/ Tungsten inert gas welding

(d) zege &7 dessi/Electron beam welding

CHATSTAT 3Teh deseT 9ishar &, T ........ gaRT JIfAa Bl

In a plasma arc welding process, the plasma is generated by :
(@) o=t 3mgfed vdr alecar/Low frequency AC voltage

(b) forwer 3mgfed vy ui/Low frequency AC current

(¢) 3= 3gfea wd dteedl/High frequency AC voltage

(d) 3= 3ngfca wir ar/High frequency AC current

150/- $UT F 100 & HaX WIS 0 Fuwr iy HaX @ 2/F9C W @ I IR 200/-F9€
T FATH AT 8, aF S T GeRT B FEAr v &

Oranges were purchased at the rate of 100 for Rs.150/- and sold at Rs.2/- per orange. If a profit of
Rs.200/- was made, number of oranges sold is

(a 200 (b) 400

(c) 800 (d 600
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I7.

78.

79

80.

IS & 0T 3:2:3:4F I H g, A HOH T BT o gl
Angle of a quadrilateral are in the ratio 3:2:3:4, then the largest angle is
(@) 60 ®) 120
(c) 180 | (d 90
AT 17 oz ufnar & ol F Frafof@a & ¥ a1 3T adr 781 &
Which of the following statement is not true with reference to a laser beam welding process?
(a) IE UTHAT Aol & U Tid & I 3 TaTEIdT TohTRT ol T IYATT T &1
The process uses amplified light energy as a source of welding
(b) o 1 T TR T 37Teh deseT isham &1 Jeretl & a5 3o ¢
The power density of laser beam is much higher compared to an arc welding process
(c)  wfshar us fAaTe i 3r9eT @ §/The process essentially requires a vacuum
(d) o7 Fr 3R A S HT BT THT
Focusing of laser beam towards the joint is possible
G ST TWH B3 H AT 3T A & oAU FT 35T ... gl ,
The purpose of copper coating given on mild steel filler wire rods is to :
(a) FSAT 3T & Grert/Conduct the heat transfer
(b) S & g sgrr/Increase the strength of the joint
(c) 2 &ERT & SR Fg SENT IF 5 H ST § g9 F A
To avoid rusting of the mild steel filler rod during long storage
(d) =R F 3sT & &7 F fu/To give good appearance to the wire

(a) UHA ¥U IAE/A single strap joint
(b) U gfd ¥u Sis/A double strap joint
(c) UF d9 /A lap joint

(d) vu=s gf¥ ov Ss/A double lap joint
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